
SAP ABAP table WRF_WRS1_S {Interface Structure of Assortments}

WRF_WRS1_S

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

LSTFL [CHAR (2)]

LAYVR [CHAR (10)]

HIER_ID [CHAR (2)]

ASSORTYP [CHAR (4)]

ASSORDIMVAL1 [CHAR (4)]

ASSORDIMVAL2 [CHAR (4)]

ASSORDIMVAL3 [CHAR (4)]

LAYGR [CHAR (10)]

T000

MANDT [CLNT (3)]

 WRF_WRS1_S-MANDT = T000-MANDT 

0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 WRF_WRS1_S-VKORG = TVKO-VKORG 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 WRF_WRS1_S-VTWEG = TVTW-VTWEG 
0..N

1

TWGV

MANDT [CLNT (3)]

LAYVR [CHAR (10)]

 WRF_WRS1_S-LAYVR = TWGV-LAYVR 
0..N

1

TWLV

MANDT [CLNT (3)]

LSTFL [CHAR (2)]
 WRF_WRS1_S-LSTFL = TWLV-LSTFL 0..N

1
TWML

MANDT [CLNT (3)]

LAYGR [CHAR (10)]

 WRF_WRS1_S-LAYGR = TWML-LAYGR 
0..N0..N

WRFST_TYP

MANDT [CLNT (3)]

ASSORTYP [CHAR (4)]

 WRF_WRS1_S-ASSORTYP = WRFST_TYP-ASSORTYP 

0..N

0..N

WRFV_TYPDIMVAL1

MANDT [CLNT (3)]

ASSORTYP [CHAR (4)]

ASSORDIM1 [CHAR (2)]

ASSORDIMVAL [CHAR (4)]

 WRF_WRS1_S-ASSORDIMVAL1 = WRFV_TYPDIMVAL1-ASSORDIMVAL 

0..N

0..N

WRFV_TYPDIMVAL2

MANDT [CLNT (3)]

ASSORTYP [CHAR (4)]

ASSORDIM2 [CHAR (2)]

ASSORDIMVAL [CHAR (4)]

 WRF_WRS1_S-ASSORDIMVAL2 = WRFV_TYPDIMVAL2-ASSORDIMVAL 

0..N

0..N

WRFV_TYPDIMVAL3

MANDT [CLNT (3)]

ASSORTYP [CHAR (4)]

ASSORDIM3 [CHAR (2)]

ASSORDIMVAL [CHAR (4)]

 WRF_WRS1_S-ASSORDIMVAL3 = WRFV_TYPDIMVAL3-ASSORDIMVAL 

0..N

0..N

WRF_MATGRP_HIER

MANDT [CLNT (3)]

HIER_ID [CHAR (2)]

 WRF_WRS1_S-HIER_ID = WRF_MATGRP_HIER-HIER_ID 

0..N

0..N


